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1. There are 42 passengers sitting in a bus.
There are 7 passengers standing in the bus.

How many passengers in the bus?
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2. Mishti gets given a packet of 24 coloured pencils.
He already has 3 coloured pencils.

How many coloured pencils does Mishti have altogether?
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3. Two buses arrive at a school at the same time.
There are 31 pupils getting off the front bus.
There are 7 pupils getting off the other bus
How many pupils are getting off the buses altogether?
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4. Lena already has 43 books on her bookshelf.
She gets given 3 books and puts them on her bookshelf.

How many books does Lena have on her bookshelf now?
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Answers

1. 49
2. 27
3. 38
4. 46
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